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6* Grade Honors Math
Unit 10 Practice Test
Simplify the following expressions.
3+ (-7) -9+ (-12)
(-5) + 100 (-1.5)+2
-19-20 12 -90
54-9 3-(-5)
-10 - (-34) -20 - (-43)
248 1_3
3 4 4 s
12x + 6x — 24x 17y + 9x = 12x + (-4y)
4m? + 6m —-3m2-m + 8 14x%y + 3xy? — 20x%y + xy? - Xy
14c+16-23c-18c-10-32 18x + 13y - 17z + 9




Simplify the following expressions.

(3)(x)(x)(x)

(A)(15)y)y)2)y)@(2)@)

2(x + 3)

13(2y — 4)

3(15m + 12)

20(5n + 1.5)

Find the GCF of the following terms.

GCF (14, 42)

GCF (12x, 9x)

GCF (27, 16)

GCF (16y%, 96y?)

Find the LCM of the following terms.

LCM (14, 42)

LCM (6, 8)

LCM 4, 7)

LCM (16, 18)




